Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY
Winter Examination-2019

Subject Name: Industrial Engineering
Subject Code: 2TEO41EN1 Branch: Diploma (Mechanical)
Semester: 4 Date:24/09/2019 Time: 02:30 To 05:30 Marks: 70
Instructions:

(1) Use of Programmable calculator & any other electronic instrument is prohibited.

(2) Instructions written on main answer book are strictly to be obeyed.

(3) Draw neat diagrams and figures (if necessary) at right places.

(4) Assume suitable data if needed.

Attempt the following questions (14)

1)  Bar chart is suitable for 01
A) Large project B) major work  C) minor work D) all of these

2)  What is productivity 01

A. Input / Output B. Output / input C. None of these

3)  Merit Rating is the method of determining worth of 01
(A) A job (C) A particular division in workshop
(B) Anindividual employee (D) Machine

4)  Acceptance sampling is widely used in 01
(A) Batch production ) mass production
(B) Job production d) all of these

5)  Work study involves 01
A) Only method study C) only work measurement
B) Method study and work measurement D) only motion study

6) What does symbol 'O" imply in work study? 01
A) Operation B) delay C) storage D) none of these

7) A systematic job improvement sequence will consist of 01
(A) Motion study (C) Job enrichment
(B) Time study (D) All of these

8)  Work sampling observations are taken on the basis of 01
A) Detailed calculations C) Table of random numbers
B) Convenience D) Past experience

9) Abbreviated work factor data is applied for 01
(A) Material handling operation (C) Packing and shipping operation
(B) Maintenance operation (D) All of these

10) The interchange ability can be achieved by 01
(A) Standardization (C) Bonus plan
(B) Better process planning (D) Better product planning

11) Works cost implies 01
(A) Primary cost (C) Factory expenses
(B) Factory cost (D) Primary cost + factory expenses
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12) Percent idle time for men or machines is found by

(A) Work sampling (C) Method study

(B) Time study (D) Work study
13) Father of time study was

A) F.W. Taylor B) H.L. Gantt C) F.B. Gilbert D) none of these
14) Micro-motion study is

(A) Enlarged view of motion study

(B) Analysis of one stage of motion study

(C) Minute and detailed motion study

(D) Subdivision of an operation into therbligs and their analysis

Attempt any four questions from Q-2 to Q-8

Q-2
Q-3

Q-4

Q-5

Q-6
Q-7
Q-8

Y-1

a) Define industrial Engineering and write its purposes.
b) Explain the factors affecting on productivity
a) Explain total quality management
b)  Write a short note on SIMO chart
c) Give the difference between method study and work study
a) List and explain symbols, which are used in flow process chart
b) Give the advantages and disadvantages of statistical quality control
a) Write difference between Quality control and inspection
b)  Explain Kaizen
c) Define following:
1. Normal time  2.Standard time 3. Quality 4. Quality control.
a) Define TQM write need of TQM.
b) Write the objective of plant layout.
a) Define Ergonomics and write its objectives and application
b) Explain the factors affecting on reliability
a)  Write difference between variable chart and attribute chart.
b) What is job enrichment? Explain its important.
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